Assembly Instruction
Model: LW 2385 Description: Queen BED

Thank you for your support of our product. Be sure to check all packing material carefully for small parts that
might have come loose during shipment.

Part List Part List

No. Description Sketch Size Qty. | No. Description Sketch Qty.

1 Bolt Q) M8 x 100mm 4Pcs | A Headboard 1 Pc
B Footboard 1Pc

2 Lock Washer = M8 4 PCS
C Side Rail (Left & Right) 2 Pcs

3 | Bolt + (Lock & Flat Washer) M8 x 45mm | 10 PCS

®) D Headboard Support 2 Pcs

4 | Bolt + (Lock & Flat Washer) M8 x 25mm 12 PCS E | Headooard Legs (Left & Right) |l ll 2 Pcs
F Footboard Legs 2 Pcs

5 Allen Key ﬁ% M5 TPC 1 g Slats / 14 Pcs
H Support Legs

(%) Screws [ hinmnins M4 x 32mm 12 PCS lj 3 PCS
| Center Wood Support / 1 PC

&b

7 Phillips head screwdriver No Included Adapter (Lamp + Wireless 1 P

J Charging + Speaker) C
Step 1

1.1 - ASSEMBLY HEADBOARD (A) WITH
HEADBOARD LEGS (E) (LEFT & RIGHT) BY
USING BOLT (3) & ALLEN KEY (5).

Step 2

2.1 - ASSEMBLY HEADBOARD (A) AND
HEADBOARD LEGS (E) (LEFT & RIGHT)
WITH HEADBOARD SUPPORT (D) BY
USING BOLT (3) & ALLEN KEY (5).

Step 3

3.1 ASSEMBLY FOOTBOARD LEGS
(F) WITH FOOTBOARD (B) BY
USING BOLT (1) , LOCK WASHER
(2) & ALLEN KEY (5).




Assembly Instruction
Model: LW 2385 Description: Queen BED

STEP 4

4.1 ASSEMBLY SIDE RAIL (C) ( LEFT & RIGHT )
WITH HEADBOARD LEGS (E) (LEFT & RIGHT)
BY USING BOLT (4) & ALLEN KEY (5).

4.2 ASSEMBLY SIDE RAIL (C) (LEFT & RIGHT)
WITH FOOTBOARD (B) BY USING BOLT (4) &
ALLEN KEY (5).

STEP 5

5.1 ATTACH SUPPORT LEGS (H) TO
CENTER WOOD SUPPORT (). @3

9

STEP 6

6.1 SECURE SLATS (G) WITH SCREW (6) BY
PHILLIPS HEAD SCREWDRIVER (7) (no included).

BACK VIEW STEP 7

7.1 PLUG IN ADAPTER (LAMP + WIRELESS CHARGING +
SPEAKER) (J) WITH CABLE.




Assembly Instruction

Model: LW 2385

Description: Queen BED

Headboard Function

Lamp #1

Lamp #1

' Speaker #2

Wireless Charger &
Cable Charger #3

NS

#1 You can adjust the brightness according to your needs. Turn on
the light by touching it, and the brightness has two levels. The third
touch will turn off the light.

Speaker #2
#2 After turning on the Bluetooth on your phone, locate the name
Bluetooth '‘eMoMo Remo 4 ' in the Bluetooth settings, then click and confirm to
establish the connection. This ensures that the speaker can be
Bluetooth -@ successfully connected.
Wireless Charger #3
#3 If your phone supports wireless charging,
OTHER DEVICES / AVAILABLE DEVICES you can direCtIy place it on the wireless
eMoMoRemod charging pad. If your phone doesn't support
# Bluetoot Logo wireless charging, you can use a charging
cable for charging. There are two wired
interfaces available, and you can rotate to find
the interface you need for charging.
FINISHED




	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model


